BID AWARD SUMMARY

LETTING DATE: January 12, 2016

PROJECT: West Main Street Overlay Project

Project No. 14-2221 / CIP No. 50798

RECOMMENDATION: Award Total Bid in the amount of \$253,810.50 to Hills

Materials Company at the January 19, 2016 Council Meeting.

BIDDERS' SUMMARY

CONTRACTORS

TOTAL BID

Hills Materials Company	\$253,810.50
J&J Asphalt Company	\$281,306.85

City staff recommends awarding this project to Hills Materials Company for a total bid amount of \$253,810.50 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	STREETS
ADVERTISING AUTHORITY	\$275,000.00	<u>\$</u>
ENGINEER'S ESTIMATE	\$277,355.00	\$

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	STREETS		
COST CENTER		8910		
LINE ITEM		4370		
FUNDING CENTER		505		
BID AMOUNT	\$253,810.50	\$253,810.50		

PROJECT MANAGER:	Tooled Recht	DATE:	1/13/16
	Todd Peckosh, PE	<u> </u>	

City of Rapid City

PROJECT NAME: West Main Street Overlay Project - South Canyon Road to Soo San Drive

PROJECT NUMBER: PROJECT NO. 15-2221 / CIP NO. 50798

LET DATE: January 12, 2016

LOW BID AMOUNT: \$253,810.50

				ENGINEER'S ESTIMATE		HILLS MATERIALS COMPANY		J & J ASPHALT COMPANY	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
1	Mobilization	LS	1.00	\$10,000.00	\$10,000.00	\$6,914.00	\$6,914.00	\$7,800.00	\$7,800.00
2	Traffic Control	LS	1.00	\$7,000.00	\$7,000.00	\$7,820.00	\$7,820.00	\$10,500.00	\$10,500.00
3	Incidental	LS	1.00	\$7,000.00	\$7,000.00	\$6,210.00	\$6,210.00	\$15,300.00	\$15,300.00
4	Flagging	HR	100.00	\$20,00	\$2,000.00	\$29.45	\$2,945.00	\$25.00	\$2,500.00
5	Remove & Reset Street Sign	. EA	5.00	\$100.00	\$500.00	\$114.30	\$571.50	\$150.00	\$750.00
6	Unclassified Excavation - Digouts	CY	10.00	\$50.00	\$500.00	\$49.50	\$495.00	\$50.00	\$500.00
7	Remove Curb & Gutter	LF	374.00	\$12.00	\$4,488.00	\$18.10.	\$6,769.40	\$12.00	\$4,488.00
8	Remove Sidewalk	SF	2,315.00	\$2.50	\$5,787.50	\$2.05	\$4,745.75	\$3.50	\$8,102.50
9	Remove Asphalt	SYD	200.00	\$20.00	\$4,000.00	\$16.81	\$3,362.00	\$9.00	\$1,800.00
10	Remove PCC Fillet	SYD	137.00	\$30.00	\$4,110.00	\$38.35	\$5,253,95	\$27.00	\$3,699.00
11	Remove PCC Pan	SYD	41.00	\$30.00	\$1,230.00	\$22.65	\$928.65	\$27.00	\$1,107.00

West Main Street Overlay Project - South Canyon Road to Soo San Drive.

Project 14-2221. CIP No. 50798

	<u> </u>	4.	1	T			T	. 1	
12	Remove Driveway Approach	SYD	14.00	\$30.00	\$420.00	\$43.10	\$603.40	\$18.00	\$252.00
13	Asphalt Milling	SYD	15,600.00	\$2.00	\$31,200.00	\$1.35	\$21,060.00	\$2.48	\$38,688.00
14	Asphalt Patch	TON	80:00	\$140.00	\$11,200.00	\$98.40	\$7,872.00	\$115.00	\$9,200.00
15	Asphalt Overlay	TON	1,375.00	\$80.00	\$110,000.00	\$75.75	\$104,156.25	\$83.00	\$114,125.00
16	3/4" Base Course	TON	200.00	\$40:00	\$8,000.00	\$37.90	\$7,580.00	\$36.00	\$7,200.00
						*			
17	Type 3 Foundation Material	TON	20.00	\$40.00	\$800.00	\$49.40	\$988.00	\$36.00	\$720.00
18	Curb & Gutter	LF	382.00	\$30.00	\$11,460.00	\$29.40	\$11,230.80	\$22.00	\$8,404.00
19	6" PCC Fillet	SYD	133.00	\$100.00	\$13,300.00	\$102.25	\$13,599.25	\$93.50	\$12,435.50
20	6" PCC Pan	SYD	56.00	\$100.00	\$5,600.00	\$72.15	\$4,040.40	\$66.00	\$3,696.00
21	6" Driveway Approach	SYD	14.00	\$100.00	\$1,400.00		\$1,010.10		\$924.00
22	Sidewalk	SF	2,320.00	\$7.50	\$17,400.00		\$14,268.00		\$10,486.40
23	Detectable Warning Panel	SF	128.00	\$35.00	\$4,480.00	\$38.50	\$4,928.00	\$33.60	\$4,300.80
24	C-Wall (0-2')	LF	34.00	\$60.00	\$2,040.00	\$108.25	\$3,680.50	\$99.00	\$3,366.00
25	Adjust Manhole	EA	6.00	\$500.00	\$3,000.00	\$700,50	\$4,203.00	\$500.00	\$3,000.00
26	Adjust Water Valve	EA	5.00	\$150.00	\$750.00	\$164.01	\$820.05	\$75.00	\$375.00
27	Sod	SYD	100.00	\$10.00	\$1,000.00		\$1,200.00		\$1,500.00
41		310	100.00	\$10.00	Ψ1,000.00	φ (2.00	Ψ1,200.00	Ψ13.00	Ψ1,500.00
28	Inlet Protection	EA	10.00	\$150.00	\$1,500.00	\$102.25	\$1,022.50	\$100.00	\$1,000.00
	4" Pavement Marking - Paint	LF	1	\$0.30	\$1,753.50	\$0.20	\$1,169.00	\$0.17	\$993.65

West Main Street Overlay Project - South Canyon Road to Soo San Drive. Project 14-2221. CIP No. 50798

30	12" Pavement Marking - Paint	LF	40.00	\$0.90	\$36.00	\$1.50	\$60.00	\$1.37	\$54.80
31	Groove for 12" Pavement Marking	LF	176:00	.\$3.50	\$616.00	\$1.80	\$316.80	\$1.65	\$290.40
32	Groove for 24" Pavement Marking	LF	128.00	\$7.00	\$896.00	\$3.60	\$460.80	\$3.30	\$422.40
33	12" Cold Applied Pavement Marking	LF	176.00	\$9.00	\$1,584.00	\$8.40	\$1,478.40	\$7.70	\$1,355.20
34	24" Cold Applied Pavement Marking	LF	128.00	\$18.00	\$2,304.00	\$16.00	\$2,048.00	\$15.40	\$1,971.20
	TOTAL				\$277,355.00		\$253,810.50		\$281,306.85

CITY OF RAPID CITY

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Todd Peckosh, PE

Date

Project Manager